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Plot Sensor and FgRec Data
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P3-13

FfiE) | GEBIATI (7)) | EBE (EAH/K) | XS ERE

07:10 120 50.0 |&=| 1Ri%e07:10 Fz1 (GRBERSE)
07:50 120 50.0 (Z=| 1Ri%e07:50 Fzh (REEEE)
08:35 120 50.0 [&=| {Ri&e08:35 FzI (FAHERESE)
09:20 120 50. 0 FE| 1BRi%@09:20 F3h (kPB{EREE)
10:00 120 50.0 FA| 1B218@10:00 Fzh (KAEEE)
10:40 120 50.0 FA| 1Ri&@10:40 F3) (KAFERSE)
11:20 120 50. 0 PR 1Bi&e11:20 Fzh (KAEESE)
12:05 120 50.0 FH| 1Bi&e12:05 Fzh (KAERSE)
12:50 120 50.0 FA| 1Ri%@12:50 F3) (KRAERESE)
13:35 120 50.0 FA| 1Ri&@13:35 Fzi (KRPHEEE)
14:20 120 50.0 FE| 1BRi8@14:20 Fzh (RAEREEE)
15:05 120 50.0 FA| {RRi&@15:05 Fz (KRPAEEE)
2it] 1440.0 (12%) 600. 0 3EHKEC: 1840.0, PH: 5.6

FERRNEREEFEABEAT (78.0 : 46.0), AEERTF—WEXAHS
ZRIASERRIERE46.0 ml.

RER I Bl RECEIB SRk,

BEREMEC (2460.0) 5i%EEC (2000.0) REI KA, B/ET

[E;%EC 5420.0 K5, ZEiLHBIKECAER hEER

HEERECE (2460. 0 vs 5420.0) 15

RERFEBLIHHEREC/PHERR K, AIREIEEDRK
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P3-13

BfiE) | FEBIETK (D) | E#=E (EH/) | XK R

07:45 120 50.0 [Z=| {Ri&e07:45 Fz1 (RAHEESE)
08:20 120 50.0 (Z=| 1Ri%e08:20 Fzh (FEEEEE)
08:55 120 50.0 |Z=| 1Ri%@08:55 F & (KBIEESE)
09:30 120 50.0 | =| 1Ri%@09:30 Fz (KBFERSE)
10:05 120 50. 0 Rg| 1Ri%e10:05 Fz (REERSE)
10:40 120 50. 0 BE| 1Ri%e10:40 Fz (REERSR)
11:15 120 50.0 RS fRike11:15 Fzf CGREAERS)
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12:40 120 50.0 | EE| {RiB@12:40 Fzh CGREAKESR)
13:25 120 50.0 BE| 1Ri%e13:25 Fz (REERSE)
14:10 120 50. 0 S| Ri%e14:10 Fz1 (REAERESR)
14:55 120 50.0 B5| 1Ri%e14:55 Fz (REERE)
15:50 120 50.0 Bg| 1Ri%e15:50 Fzi (REEES)
23] 1560.0 (137%) 650. 0 3ZHKEC: 1840.0, PH: 5.6

TERRHE 2 STEELRT (78.0 :

ZRIASERRIERE46.0 ml.

large discrepency for begining water status (82:198.0), set to 106.0 ml

46.0), FIREERT—RE XA 45

[E;%EC 5233.0 K5, ZEiLHBIKECAEZhERR

FEIKRECE (2280.0 vs 5233.0) 15
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